169 YAF2 F A5 28 Ttolel.

16 9] U AlE+2

xt =165 TE5tE x 9] go|BE

x* =16 = 0|4

(¥2-4)(x2+4)=0
(x=2)(x+2)(x*+4)=0

Lx=-=2, 2, 2i, —2i

w2t 16 o UAla 5 Ao A2
-2, 2




2.

(¥2)* x /619 ghe F3Hw?

®

512




3.

log, 9 =

® 3

Wl N

=
=

B ek 9] 4o

@ 9 ®)27

@ 30

[SUA )
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logg 12 —logg 4 = 1 4 logy 9 + logg 12 — logg 4
=logg(9x 12 + 4)

= logg 27 = logs. 33 = g
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logab® loga+ 3logh
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L2 log6.32 0.80°]1, a = log6300, logh = —1.20 ¢ o],
a+10b 9] 27

D 3.80 @ 4.04 ® 4.28 @ 4.32 @4.43

B ~

a = log 6300 = log(1000 x 6.3) = 3 + log 6.3 = 3.80°] 1
logh = —1.20 = -2 + 0.80 = log 0.01 + log 6.3

= 1og 0.063 |22 b = 0.063

~.a+10b = 3.80 + 0.63 = 4.43
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log(314xA) =1.0471 ¢ W, FF AQ S hS A E2IRE

Stof gk A7
& 0 1 2 3 4 5
3.0 | 4771 | 4786 | 4800 | .4814 | .4829 | .4843
3.1 | 4914 | 4928 | 4942 | .4955 | .4969 | .4983
3.2 | .5051 | .5065 | .5079 | .5092 | .5105 | .5119
3.3 | .5b185 | .5b198 | 5211 | .5224 | .5326 | .5250
3.4 | .5315 | .5b328 | .5340 | .5353 | .5366 | .5378
3.5 | .b441 | .5435 | .5465 | .5478 | .5490 | .5502

@D 0.3020 ©2)0.355 ® 1.35

@ 2.30 ® 2.33

o

B

= —0.4498
= -1+ 0.5502

olct,

log(31.4 X A) = 1.0471 9] A
log31.4 +logA = 1.0471
logA = 1.0471 —log 31.4
= 1.0471 — (1 + log 3.14)
= 1.0471 — (1 + 0.4969) (.. 213 A log 3.14 = 0.4969)

84 FolA 2I1FA log3.55 = 0.5502°] 22 A = 0.355
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log 80 = log(10 x 8) = 1 4 log 8 ]| A]
0<log8<10o|R&

log80 2] A4 FE-2 10| &4 HE-2 log8o]Tt.
Zn=1a=log80|0&

10" + 10 = 10 + 1088 = 10 + 8 = 18
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15. log,_5(—2* + 6x - 8) 9] Fo] ZA5H] 13 A5 x 0] WIIE?

@D -1<x<3 @ 0>x ® 2<x<5b
@3<x<4 ® 5<x<T

B

L] XANA x-3>0,x-3#1
weEtA] x> 3, x#£4---Q

Ao A —x2 +6x-8>0

X2 -6x+8<0

(x—2)(x—-4) <0

gt 2<x<4---©

9,09 FFHYE FotH3<x <4
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16. log,,(141)+logy, (1 + 5) +logyq (1 + §) +

of g2 Fsfoler.
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17. logﬁ — 198128 WHESHE F4 19| FS S AR IE
o]-g-5}o] Fatefat,
- 0 1 1 3
45 | .6532] .6542| .6551| .6561
46 | .6628] .6737| .6647| .6656
4.7 | 6721] 6730 6739 6749
> =
> =l 451
logx 9] 748 F51AL, 7H47t 22 2O A-E AGRZ IR

oA Z=r.
4.71

log x = 2.6542 = 2 + 0.6542
2R A log4.51l = 0.6542°0] B2 x = 451

log ——— = log x — log4.71 = log x — 0.6730 = 1.98120] 2.2




18. 1og0.008 9] A FEE x, 25 F25 y2t E Wx + 107 9 gh27?

@1 @ 3 3®)5 @ 7 ® 9

B ~
log 0.008 = log 8 — log 1000
=log8 -3 = -3+ log8
opebA] x = —30]1, y = log8 0| B &
x+10"=-3+10°88 =-3+8=5




19. log;, 2759 2 log;, 2 = 0.301,log,, 11 = 1.041-& ©o]-83}o] ALt
g o, e AA Aol A B ste] A A A 712 -5k
et

> E

> H=E: 244

B )

logy 275 = logo* = 21og3, + logi}

= 2(1 - log?y) + logig

= 2(1-0.301) + 1.041

= 2.439

A= A 2L ol A vH-EHSHHE 2.44




20. tg Al 27e S TS F AL x y ol theke] xy=?

@ xotyol FE=0 A4 FE2 2

1
© x9h 2o 4§28 &g HEE Pk

© ¥y 9 4§E 0 HS BELS Toleh.

@ 10 @100 @)oo @ 2500

® 8000

B

Dlogx=n+a, (FneAF, 0<a<1)
logy=n+pB(0<B<1)
()log% =logy™' = -logy
=-n-f=-n+1-1-p8
=(-n-1)+1-8

1-B=«

Tat+p=1

© log x*y? = 3logx + 2logy
=3n+a)+2(n+p)

= 5n+3a + 28

e S vej 2=

A4 HEO 3, 498-2, n=1
- log? =logx + logy
=n+a+n+p
—m+a+B=2+1=3

< xy = 103 = 1000




